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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1-15 839 9.7 2.8 15 64.6 100
16 838 3.3 1.2 4 82.4 99.9
17 836 3.6 2 6 59.9 99.6
18 836 4.1 2 8 51.7 99.6
19 839 8.2 2.7 14 58.8 100
20 838 4.2 1.8 8 52.6 99.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q.17 


 
Suppose the price elasticity of demand for luxury yachts is equal to zero.  Explain, 
with the use of a diagram, what the effect of imposing an indirect tax would be on 
the price, quantity sold and tax revenue gained from the sales of luxury yachts. [6] 
 


Band AO1 (diagram) AO1 (elasticity) AO3 
2 marks 2 marks 2 marks 


 
Is the diagram correct? Explanation of price increase 


but Quantity remains constant; 
is the answer applied to the 


context of PED=0? 


Has the answer effectively 
analysed the effects on the 


tax revenue gained? 
 


2 


2 marks 
Demand curve is drawn 
vertical and Supply curve 
is shifted to the left. 
 
Parallel shifts or Pivot 
shifts can both be 
credited.   
  
 


2 marks 
Price increases. (1) 
 
Quantity stays the same. (1) 


2 marks 
The ‘tax box’ in the diagram 
is correctly labelled with a 
clear explanation. 
 
OR 
 
A clear analysis that as a 
result of the sales staying 
constant, the tax revenue 
collected must therefore 
increase with the full tax 
burden falling on the 
consumer. 
 
Note 
If a learner drew an elastic 
demand curve and then 
correctly identified that ‘tax 
box’ on his/her diagram 
they may still gain 2 marks. 
 


1 


1 mark 
Only one of the above is 
true. 
 
Two or more errors on 
labelling the diagram. 


1 mark 
Only one of the above. 


1 mark 
A limited analysis  that the 
tax revenue has increase 
but does not illustrate it on 
the diagram OR does not 
adequately explain why it 
has increased with 
reference to the quantity of 
sales. 


0 
0 marks 


No diagram or totally 
incorrect diagram. 


0 marks 
Incorrect or no understanding. 


0 marks 
Incorrect or no analysis. 
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Indicative content: 
 
Correct D&S Diagram – Demand is vertical and Supply shifts left.  Price has increased, 
Sales remain constant and the tax receipts have increased. 
 
 


 


 


 


 


 


 


 


 


Correct Explanation:   The PED for luxury yachts equals zero, therefore sales are 
unresponsive to price.  The demand for the good is perfectly inelastic.  When the sales tax 
on yachts is increased this has the effect of shifting Supply to the left (due to increasing 
costs) and this causes an excess of demand and so there is upwards pressure on price.  At 
the new price, however, sales remain constant because the demand for the good is perfectly 
inelastic.   
 
The tax received by the Government increases because the number of units sold remains 
the same but there is more tax on each one.  The increase in tax revenue is shown by the 
box in the diagram above.  The consumers pay all of the tax. 
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Sticky Note

The diagram is correct (vertical D curve) and S curve shifting to the left due to additional sales tax [2]




Sticky Note

The student explains that the price increases [1] but that, because of the PED, the Quantity sold remains constant [1].




willic

Sticky Note

Unmarked set by willic



Sticky Note

The student implies that tax revenue increases in two places “burden falls on consumer” and then later “tax revenue is the vertical distance” [1] but s/he is incorrect in identifying the correct tax revenue area – therefore does not gain the 6th and final mark.
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Sticky Note

The diagram is correct (vertical D cruve) and S curve shifting to the left due to additional sales tax [2]




Sticky Note

The student explains that the price increases [1] but that, because of the PED, the quantity sold remains constant [1].




Sticky Note

The student correctly identifies the total tax revenue on the diagram and labels it ABCD [2] – s/he later emphasises this point by remarking that the incidence of tax falls entirely on consumers.













Sticky Note

The diagram is correct (vertical D curve) and S curve shifting to the left due to additional sales tax [2]




Sticky Note

The student explains that the price increases [1] but that, because of the PED, the Quantity sold remains constant [1].





Sticky Note

The student state that the “tax revenue gained will be section Q”.  This is ambiguous and cannot be rewarded since it could either mean the quantity (also labelled Q), the vertical distance between S and S+t (which is the unit tax) or the tax box.  There is little evidence here to give benefit of the doubt.  However, the student does imply that tax revenue has increased and that the burden of tax is falling on the consumer [1].
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15
Examiner


only
17.	 Suppose the price elasticity of demand for luxury yachts is equal to zero. Explain, with the use 


of a diagram, what the effect of imposing an indirect tax would be on the price, quantity sold and 
tax revenue gained from the sales of luxury yachts.	 [6]


	 (Draw your diagram in the space below).
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Q.18 
 
To what extent could the payday lending market be considered to 
demonstrate market failure before the FCA intervened?   [8] 
 


Band AO1  AO2 AO3 AO4 
1 mark 2 marks 3 marks 2 marks 


 


Is the concept of 
market failure 
understood? 


Is the answer well 
applied to the 


context of payday 
lending? 


Has economic theory 
been well developed 


to explain why payday 
lending could be seen 
as a market failure? 


Is the argument 
made that 


payday lending 
is not a market 


failure? 


3 


  3 marks 
An excellent analysis 
of market failure. 
 
Theory is thoroughly 
linked back to the idea 
of a misallocation of 
resources throughout 
the answer. 


 


2 


 2 marks 
Clear reference to 
the data. 
 
Use of the data to 
justify a correct 
economic 
argument. 


2 marks 
A good analysis of 
market failure. 
 
 
Theory is linked back 
to the idea of a 
misallocation of 
resources in parts of 
the answer. 


2 marks 
Clear well-
reasoned 
evaluation that 
payday lending 
demonstrates 
market failure. 
 
The evaluation 
is in context. 


1 


1 mark 
Clear 
understanding of 
market failure. 
 
Accept either an 
explicit definition of 
market failure or it 
is implicitly 
explained in the 
answer. 


1 mark 
Limited use of the 
data. 
 
Knowledge and 
understanding 
may not be 
applied 
specifically to the 
context given in 
the data. 


1 mark 
A limited analysis of 
market failure. 
 
Limited reference to 
misallocation of 
resources. 
 
Superficial 
development. 


1 mark 
Limited or brief 
evaluation that 
payday lending 
demonstrates 
market failure. 
 
The evaluation 
is superficial 
and not in the 
context of the 
data. 


0 


0 marks 
No understanding 
of market failure. 


0 marks 
A generic 
explanation of 
any market failure 
and there is no 
mention of 
payday lending in 
the explanation. 


0 marks 
No or incorrect 
analysis of market 
failure. 


0 marks 
No valid 
evaluation. 
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Indicative Content: 
 
Good definition of market failure - for example, it is a misallocation of resources caused by 
the unrestricted operation of the free market OR is causes net welfare loss to society. 
 
Market failure can be identified in this context in two main ways: 
 


1. Negative externalities (stress, depression).  In taking out payday loans, people are 
buying a product which then causes them stress, depression and financial difficulties.  
This then causes issues for the third party/society in that there will be cost to bear by 
the public/taxpayer to support these issues.  Diagrammatically, this can be shown as 
an over-allocation of resources in the market.  People are buying too much because 
they do not take into account the external cost of their loan on the third party which, 
in this case, is the taxpayer though the provision of medical services.   


 
2. Asymmetric information. People often don’t realise the hefty fees involved with 


payday loans.  As a result, they would not take have taken the loan if they really 
knew how much they debt they were getting into.  To that end, it is argued that there 
is an over-allocation of resources in the market – again, people are taking more loans 
than they would have done if they had had perfect information. 


 
 
Answers might also refer to monopoly, income inequality (to demonstrate market failure). 
 
BUT 
 
Payday lenders can provide a valuable service for consumers (who want to ‘purchase’ 
money).  For example,  
 


1.  There are people who understand the APR and still decide that they will take the 
loan.  For example this could be a person/business with a temporary cash-flow 
problem and taking a short-term, high-cost loan may actually be there best option 


 
2. There are lots of people who simply were unable to access money after the financial 


crisis.  The high rate of loan is simply the reflection of the market price and the risk 
that the producer has to bear when taking the risk to lend to these individuals.  The 
price is high but it is justified.   


 
3. The availability of payday loans actually eases financial pressures on individuals and 


reduces stress/anxiety.    
 
The answer is reversible.  However, the criteria for AO3 reaching band 2 and 3 would be that 
the answer includes some reference to the correct allocation of resources or the social 
optimum level, whichever way round the argument is made. 
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Sticky Note

There is a good understanding of market failure throughout [AO1 -1]




Sticky Note

There is also clear reference to the data and relevant content form the data is used to develop and support their argument [AO2-2]




Sticky Note

The problem then comes with the analysis of the payday lending market as a market failure.  The correct terminology is being used but the link back to the concept of market failure is unsatisfactory.  For example, “the external costs are a cost imposed on society” is OK but “the external costs of the payday loan [are the] mental health issues it causes extra demand for NHS and it involves opportunity cost” can only be classified as limited analysis since it is both (a) difficult to read and make sense of (b) not developed enough to link back to the idea that payday loans will be overconsumed or community surplus is not maximised. [AO3-1]




Sticky Note

The rest of the answer does not link to the question and is not credited.
There is no evaluation [AO4-0]













Sticky Note

Good understanding of market failure.  Initial definition is weak but the second sentence then saves the first. [AO1-1]




Sticky Note

There is also clear reference to the data and relevant content form the data is used to develop and support their argument [AO2-2]




Sticky Note

The AO3 analysis is weak and the student’s identification of external costs is the only thing that can be credited.  Like with the answer above, there is not enough development enough to link back to the idea that payday loans will be overconsumed or community surplus is not maximised. [AO3-1]




Sticky Note

The evaluation, however, is much better and the student makes a coherent argument that, “given the recessionary conditions … [payday lenders] were justified in setting high rates in order to cover their costs”.  Although brief, I consider this to be a clear well-reasoned evaluation that payday lending does not demonstrate market failure. [AO4-2]
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Sticky Note

Good understanding of market failure.  [AO1-1]




Sticky Note

Whilst there are no numbers/quotes pulled directly from the text, the answer is entirely in context and is obviously used to develop and support their argument. [AO2-2]




Sticky Note

The development of AO3 is very strong and scores full marks.  Student identifies negative externalities but also that the third party is not being adequately compensated.  There is also a reference to “unnecessary pressure on the NHS and the Government has to put in more funding” which is then linked to opportunity cost.  This demonstrated a good link back to the idea of market failure and the idea of too many resources being allocated to this industry.  [AO3-3]




Sticky Note

There is no evaluation that can be credited in this answer. [AO4-0] 
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Examiner
only


18.	 In 2014 the Financial Conduct Authority (the FCA) set a limit on the interest rate that ‘payday 
lenders’ (such as Wonga) could charge on their lending to consumers. During the financial 
crisis, many consumers struggled to borrow money from traditional sources such as high street 
banks.


	 High street banks such as Lloyds and Barclays may charge anything between 4 and 14% annual 
interest on a typical loan. Payday lenders, however, have charged 1000% annual interest or 
more. The FCA believed it necessary to intervene in the payday loans market by limiting the 
interest rate on lending to a maximum of 290% annually.


	 High debt levels have long been associated with social issues such as pushing people into 
poverty, causing mental health issues such as stress and depression and even as a cause of 
crime.


	 To what extent could the payday lending market be considered to demonstrate market failure 
before the FCA intervened?	 [8]
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Q.19 (c) 
 
Discuss the likely effects of increasing the rate of VAT in New Jersey on the 
level of employment in the state.  [8] 
 


Band AO2  AO3 AO4 
2 marks 4 marks 2 marks 


 


Has economic theory 
been well developed to 
support arguments with 
regards to the context of 


New Jersey? 


Has economic theory been 
well developed to support 


arguments and, in 
particular, with regards to 


employment levels? 


Has economic theory been 
used to evaluate the 
arguments made? 


2 


2 marks 
Clear reference to the 
data. 
 
Relevant content from 
the data is used to 
develop and support their 
argument. 
 
 


3-4 marks 
A good analysis. 
 
A clear identification of at 
least one likely economic 
consequence as a result of 
the increase in sales tax.  
This is fully developed to 
make a strong logical 
argument with regards to 
employment levels. 


2 marks 
 
Clear well-reasoned and 
balanced evaluation. 
 
Clear reference to 
economic theory to justify 
the judgement. 
 
 


1 


1 mark 
Limited use of the data. 
 


1-2 marks 
A limited analysis. 
 
Fails to link to employment 
levels.   
 
OR  
 
Economic theory is limited. 


1 mark 
Limited evaluation.  
 
The evaluation may be 
unbalanced and 
superficial. 


0 0 marks 
No use of the data. 


0 marks 
No or incorrect analysis. 


0 marks 
No evaluation offered.  
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Indicative content: 
 
Learners may make one of the following credible arguments: 
Unemployment will increase  
 


- Sales taxes will increase prices.  This leads to a reduction in the number of total 
sales (due to a contraction along the demand curve) and therefore there is a 
reduction in the number of jobs available. 


 
- Higher prices might put off tourists and therefore sales to tourists might decline – 


thereby reducing potential jobs. 
 


- Low-paid earners are likely to most affected since their products/services are low 
price and increasing sales taxes will have a greater percentage change on their cost 
(likely to decrease number of sales and therefore jobs).  High-paid earners, on the 
other hand, will not see a large % increase in their products/services and therefore 
they may see little change in their sales revenue.  Therefore, unemployment is more 
likely to rise in those sectors which cater for low paid workers e.g. fast food outlets.  
 


- Sales taxes are regressive and therefore poorer consumers (with higher Marginal 
Propensities to Consume) will be greatly affected.  Sectors whose customer-base is 
largely made up of low-income households (again, fast food outlets) will see their 
revenues fall the most – thus jobs in those areas are under threat. 


 
 
Employment will not be affected greatly 
 


- New Jersey is a rich state and therefore higher prices will not necessarily affect sales 
to a large degree.  Might be linked to likely inelastic PED values given that New 
Jersey is a rich state.  Therefore there is continued demand for goods and services – 
and (as a result) for jobs. 


 
- Tourism levels are increasing.  Tourists account for a large number of sales in the 


State and therefore citizens of New Jersey should still be able to find work – based 
on the expenditure of out-of-State visitors. 
 


- The State Government may use the increased tax revenue to put into employment 
programmes such as training courses or wage subsidies. 


 
- In a country such as the USA, the likely impact of a sales tax increase should always 


be considered in relation to the level of sales taxes in neighbouring States, since 
Americans are quite likely to travel across State boundaries to access lower prices. 


 
- Higher sales taxes may be offset by lower taxes elsewhere (such as property taxes) 


which may well leave citizens’ disposable incomes largely the same. 
 


- Increase in sales taxes do not act as a disincentive to earning like incomes taxes do. 
 
This not an exhaustive list and examiners should be prepared to credit other answers if they 
are appropriate. 
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Sticky Note

This answer is fully focussed on the question of employment within New Jersey – which many other candidates failed to do.




Sticky Note

The first argument made is that VAT pushes prices up and this may cause demand for holidays to fall, which is especially bad for New Jersey because 7% of GDP is in the tourism industry.  This is a great start since the candidate is showing knowledge (of what VAT does to prices), application (to New Jersey) and then an ability to develop that to the title question about employment.  




Sticky Note

Then there is, essentially, a PED argument – which serves as an evaluation - AND there is an argument that any tax revenue gained by the Government could be used to diversify the economy away from tourism as well as an argument about the size of the tax.




Sticky Note

Then there is, essentially, a PED argument – which serves as an evaluation - AND there is an argument that any tax revenue gained by the Government could be used to diversify the economy away from tourism as well as an argument about the size of the tax.
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Sticky Note

The student shows knowledge of indirect taxes and – although an AD/AS diagram would have been preferred – the micro diagram serves its purpose in supporting the argument that prices go up and ‘demand’ (should be: quantity demanded) falls.  This is then linked to the demand for jobs falling.
There is no context [AO2-0] and there is no evaluation offered [AO4-0].




Sticky Note

AO3 is, perhaps favourably, deemed to be 3 marks because of the link back to jobs.  The analysis of VAT in the market pushing up prices and causing Qd to fall is perhaps worth 2 and then the link to jobs is worth a further 1 thereby fulfilling the Mark Scheme’s criteria that: “this is fully developed to make a strong logical argument with regards to employment levels” [AO3-3].  This is the type of answer, in truth, that had it gained 2 – I would not have regraded it in a remark.







Sticky Note

This is very brief answer and limited in every way.  It does well to score 3.
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Sticky Note

The first thing to say is that there is no context to this answer [AO2-0]



Sticky Note

The analysis of VAT is good and the correct AD/AS is drawn (many students made the mistake of shifting AD to the left!).  This is then linked to the demand for labour and the fact that the number of jobs is likely to fall.  [AO3-3]








Sticky Note

The evaluation is very limited in that it is a superficial PED argument about non-related goods and “high-skilld” (but not specified or developed) jobs.  This constitutes limited evaluation [AO4-1]. 




Sticky Note

The evaluation is very limited in that it is a superficial PED argument about non-related goods and 'high-skilled' (but not specified or developed) jobs.  This constitutes limited evaluation [A04-1].
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Examiner


19.	 Situated in the North-East of America, New Jersey is one of the USA’s smallest states. It is, 
however, the eighth-wealthiest US state by GDP per person. 
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Statistics


Population: 8.93m
GDP: $504 billion


	 In 2014, tourism in New Jersey accounted for $36.4bn of its GDP.  In addition, tourism generated 
$4.6bn of tax revenue ($1.4bn of which was VAT).


	 About 500,000 jobs, nearly 10% of New Jersey’s total, are in the tourism industry. Nearly half 
of all the tourism spending is at the “Shore” – a local reference to the state’s vast 127 miles 
of beach. The last few years have seen strong tourist seasons in New Jersey; sunny weather 
combined with lower travel costs has been attracting large numbers of beachgoers from New 
York, Pennsylvania and further away. As a result, holiday accommodation prices have increased 
by 9% between 2014 and 2015.







(2520U10-1) Turn over.


	 (c)	 Discuss the likely effects of increasing the rate of VAT in New Jersey on the level of 
employment in the state.	 [8]
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